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2. ura
a) Titanic.
b) One night in April 1912.
c) There were 2,300 passengers on board.
d) She was going to New York.
e) The disaster happened on 14th April 1912 at 11.40 pm.
f) There were icebergs around the ship.
g) No, he didn't.
h) The passengers were having a good time.
i) The passengers tried to escape.
j) It fired rockets.
k) No, there weren't.
l) Six ships began to run towards The Titanic.
m) At 2 am.
n) The sea was full of bodies.
o) There were 705 survivors.
Rešitve za vajo z vstavljanjem besed:
1. liner
2. passengers
3. icebergs
4. struck
5. lifeboats
6. saved
7. disasters
Rešitve za vajo z angleškimi razlagami:
1d / 2e / 3b / 4a / 5f / 6c

